TS RS CHR e RS IE TR (53 5)

14 S EERGZOLIYEPE S EASFHIETR (B3 75) 13, RIZEDD & ZAICLD,

(PRSI S OV )
F25k THE3IRIEDTIEEHINAKR OO FEFEZIRD LBV HIET D,
(Kl IE AT O%E) (Rl IE4H) (& 7
[ux Al
%5 1K /B F O 4R 1, 824, 000 T 4,239 TH 1,828, 239 TH
%514 = ¥ I &= 1,276, 049 T 6, 275 TH 1,282, 324 T

1
¥ 37 = % 4 00 % 523, 088 T-M A 2,036 T 521, 052 T



(EARBIIXA K O > H)
3% TEE4ASXAHEINESD EARMINAENEARRNSIHEIC T LRRET 2403 7, 0 3 0 THITREE D EISEIE R IRE &
37, 030 THTHIETZLEDLET S, | & MEARMNABEPEARISHEICK LAET 583 6, 126 THITEFESE
wEERRE®36, 126 THTHIET IbOLE T2, | I, ERMNAKROSHOTEFLZIRO & B HHIET D,

(Fl IERT D%H) (i E4H) (& 7

[ux Al
%1k g oA B I A 137,670 FH 904 M 138, 574 FH
w3m o M B & 2 T 904 T4 906 T

SR642 A2 2 B
FMZRRE £ B W =



R0 5 A FERGE SC BT e S 36 2 R I 1 5 SE M o
w4 B A ko X

oA AL TFH
_ - A H i ERTOEH i IE #H & F fisi
L. JRBE S 2R A 1, 824, 000 4,239 1, 828, 239
L. EZEN AR 1,276, 049 6, 275 1, 282, 324
4. & O EZFEIEE 90, 258 6, 275 96, 533
3. EZESM AR 523, 088 A 2,036 521, 052
2. fifiBh & 1 9, 694 9, 695
3 AHE T4 433, 490 A 11,730 421, 760
g ORI A K Y X
oA AL TFH
_ - A H i ERTOEH i OIE #H & Fh fii
L EARRIIA 137, 670 904 138, 574
3. fifiBh 4 2 904 906
1. ==& 1 904 905




R 5 AR FERIGE S HT R 55 36 2 R4 18 1 S B
w4 o A ko X

oA AL T
_ - A H i i ERTOEH i IE %A & Fh B A
IR = A 1, 824, 000 4,239 1, 828, 239
L. EZINAE 1,276, 049 6, 275 1, 282, 324
4. & OAhE IS 90, 258 6, 275 96, 533
4. KB4 1 6, 275 &m6%%§i%%%£§§§£?%$¥ 5,535
U 7 F AR R R S e 740
3. EZESM AR 523, 088 A 2,036 521, 052
2. fifiBh & 1 9, 694 9, 695
1. B4 1 9, 694 9, 695 j@%g%gﬁ%gﬂ%ég% 3,944
] ER i HE LRI E A2 ot L 000
(FE PR Bt S i 22 ’
[ e s B A v e o S B S B & 4, 750
3 AHBAT e 433, 490 A 11,730 421, 760
1 A& 433, 490 A 11,730 Qaniggiﬁﬁgﬁ%ﬁ) A 20,000
—MRFRAL 8. 270

(e 5 Al 2B Bl RF A2 A 42)




g oA B A k& X M

(SN AL TFH
& - H - i i ERTOEH #OIE %A & FF B i3
L EARRIIA 137, 670 904 138, 574
3. fifiBh 2 904 906
1. ==& 1 904 905
B =1 T A L ARYE % B D B
1. R4S 1 904 905 %@%g;g;ﬁiéﬁﬁﬂﬁwﬁﬁ 904




